## Christian Little Angel Kindergarten Limited agent Educational materials (List as below)

School	Class	Test book (Reference Book)		Whole Y	'ear	Press
year				1 <sup>st</sup> Seme	ster	
			Price	2 <sup>nd</sup> Seme	ester	
				Total sale	e price	
				Quantity	1	
		1.寶寶愛探索教材套(1-8 冊)	\$38.4	\$307.2	(8Books)	Educational
		Theme Textbook Book				Publishing
		2.遊戲冊(2 冊)	\$29.4	\$58.8	(2Books)	House,
		Theme Activity Book				Limited
2019	N.1	3.Kiddle Fun Time Pupils Book(BK1&2)	\$40.8	\$81.6	(2Books)	
/	Class	4.Shared Reading Book(2nice)	\$38.5	\$77	(2Books)	Pearson
2020						Education
						Asia Limited
		Miscellaneous Items		Whole Year		
				1 <sup>st</sup> Seme	ster	
			Price	2 <sup>nd</sup> Semester		
				Total sale	e price	
		1. Supplementary Materials	\$70.2	\$140.4		
		2.School Bay	\$24	\$24		
		3. Apron	\$52.9	\$52.9		
		4.Birthday Bay	\$12.6	\$12.6		

### Christian Little Angel Kindergarten (Richland Gardens) agent Educational materials (List as below)

School	Class	Test book (Reference Book)	Who	le Year	Press
year				1 <sup>st</sup> Semester	
			Price	2 <sup>nd</sup> Semester	
				Total sale price	
				Quantity	
		1.生活學習套(1-8 冊)	\$45	\$360 (8Books)	Educational
		Theme textbook Book			Publishing
		2.Fun Around Us (1&2)	\$49.5	\$99 (2Books)	House Limited
		3.暑期作業 Summer Supplement	\$41	\$41 (1Book)	
		4.線條練習(1) Purlin Exercise	\$30.4	\$30.4 (1Books)	
		5.線條練習(2) Purlin Exercise	\$30.4	\$30.4 (1Books)	
2019		6.線條練習(3) Purlin Exercise	\$30.4	\$30.4 (1Books)	
/	Nursery	7.Shared Reading Book(2nice)	\$38.5	\$77 (2Books)	Pearson
2020	class	8.繪本閱讀書(2 冊)	\$24	\$48 (2Books)	Education Asia
		Chinese Shared Reading Book		,	Limited
		Miscellaneous Items	Who	le Year	
				1 <sup>st</sup> Semester	
			Price	2 <sup>nd</sup> Semester	
				Total sale price	
		1. Supplementary Materials	1 <sup>st</sup> Semester \$29.5	\$41.1	
			2 <sup>st</sup> Semester \$11.6		
		2.Arts Materials	1 <sup>st</sup> Semester \$27	\$27	
			2 <sup>st</sup> Semester \$/		
		3.Stationery	1 <sup>st</sup> Semester \$10	\$10	
			2 <sup>st</sup> Semester \$/		
		4.Snacks Free	1 <sup>st</sup> Semester \$350	\$450.2	
			2 <sup>st</sup> Semester \$100.2		
		6.School Bag	\$40	\$40	
		7.Book Bag	\$25	\$25	
		8.Winter Uniform	\$785	\$785	
		9.Summer Uniform	\$387	\$387	

### Christian Little Angel Kindergarten (Richland Gardens) agent Educational materials (List as below)

School	Class	Test book (Reference Book)	Whole	Whole Year		
year				1 <sup>st</sup> Semester	]	
			Price	2 <sup>nd</sup> Semester		
				Total sale price		
				Quantity		
		1.生活學習套(1-8 冊)	\$49.8	\$398.4 (8 Books)	Educational	
		Theme textbook Book			Publishing	
		2.來說普通話(低上&下冊)	\$41.1	\$82.2 (2Books)	House,	
		Putonghua Book			Limited	
		3.Phonice Around Us (1&2)	\$46.8	\$93.6 (2Books)	]	
		4.Fun Around Us (1&2)	\$49.5	\$99 (2Books)	]	
		5.寫字輕鬆學(2)(4)	\$30.4	\$60.8 (2Books)		
		Writing Supplement				
2019		6 假期作業(3) Holidays Supplement	\$21	\$63 (3Books)	1	
/	Lower	7.暑期作業 Summer Supplement	\$41	\$41 (1Books)	1	
2020	Class	8.繪本閱讀書(2 冊)	\$24	\$48 (2Books)	Pearson	
		Chinese Shared Reading Book			Education	
					Asia Limited	
		Miscellaneous Items	Who	le Year	•	
				1 <sup>st</sup> Semester		
			Price	2 <sup>nd</sup> Semester		
				Total sale price		
		1. Exercise books	1 <sup>st</sup> Semester \$58.8	\$144.6		
			2 <sup>st</sup> Semester \$85.8			
		2. Supplementary Materials	1 <sup>st</sup> Semester \$16.4	\$28		
			2 <sup>st</sup> Semester \$11.6			
		3.Arts Materials	1 <sup>st</sup> Semester \$34.8	\$46.5		
			2 <sup>st</sup> Semester \$12			
		4.Stationery	1 <sup>st</sup> Semester\$10	\$10		
			2 <sup>st</sup> Semester\$/			
		5.Snacks Free	1 <sup>st</sup> Semester \$350	\$450.2		
			2 <sup>st</sup> Semester \$100.2			
		6.School Bag	\$40	\$40		
		7.Book Bag	\$25	\$25		
		8.Winter Uniform	\$785	\$785		
		9.Summer Uniform	\$387	\$387		

## Christian Little Angel Kindergarten (Richland Gardens) agent Educational materials (List as below)

School	Class	Test book (Reference Book)	Whole	Whole Year		
year				1 <sup>st</sup> Semester		
			Price	2 <sup>nd</sup> Semester		
				Total sale price		
				Quantity		
		1.生活學習套(1-8 冊)	\$54.9	\$439.2 (8 Books)	Educational	
		Theme textbook Book			Publishing	
		2.來說普通話(低上&下冊)	\$41.1	\$82.2 (2Books)	House,	
		Putonghua Book			Limited	
		3.Phonice Around Us (3&4)	\$46.8	\$93.6 (2Books)		
		4.Fun Around Us (5&6)	\$49.5	\$99 (2Books)		
		5.寫字輕鬆學(5)(6)	\$30.4	\$60.8 (2Books)	]	
		Writing Supplement				
2019		6 假期作業(3) Holidays Supplement	\$21	\$63 (3Books)	]	
/	Upper	7.暑期作業 Summer Supplement	\$41	\$41 (1Books)	]	
2020	Class	8.繪本閱讀書(2 冊)	\$24	\$48 (2Books)	Pearson	
		Chinese Shared Reading Book			Education	
					Asia Limited	
		Miscellaneous Items	Who	le Year		
				1 <sup>st</sup> Semester		
			Price	2 <sup>nd</sup> Semester		
				Total sale price		
		1. Exercise books	1 <sup>st</sup> Semester \$67	\$136.3		
			2 <sup>st</sup> Semester \$69.3			
		2. Supplementary Materials	1 <sup>st</sup> Semester \$26.4	\$36.5		
			2 <sup>st</sup> Semester \$10.1			
		3.Arts Materials	1 <sup>st</sup> Semester \$34.8	\$34.8		
			2 <sup>st</sup> Semester \$			
		4.Stationery	1 <sup>st</sup> Semester\$10	\$10		
			2 <sup>st</sup> Semester\$/			
		5.Snacks Free	1 <sup>st</sup> Semester \$350	\$450.2		
			2 <sup>st</sup> Semester \$100.2			
		6.School Bag	\$40	\$40		
		7.Book Bag	\$25	\$25		
		8.Winter Uniform	\$785	\$785		
		9.Summer Uniform	\$387	\$387		

#### **Educational Publishing House Limited**

### Christian Little Angel Kindergarten Limited agent Educational materials (List as below)

School	Class	Test book (Reference Book)		Whole \	<b>Y</b> ear	Press
year				1 <sup>st</sup> Seme	ester	
			Price	2 <sup>nd</sup> Sem	ester	
				Total sa	le price	
				Quantit	у	
		1.寶寶愛探索教材套(1-8 冊)	\$43.6	\$348.8	(8Books)	Educational
		Theme Textbook Book				Publishing
2020		2.遊戲冊(2 冊)	\$33.2	\$66.4	(2Books)	House,
/	N.1	Theme Activity Book				Limited
2021	Class	3.Kiddle Fun Time Pupils Book(BK1&2)	\$46.2	\$ 92.4	(2Books)	Wonder Kids
		4. Wonder Tales	\$41.3	\$82.6	(2Books)	Educational
						Publishing
						House,
						Limited
		Miscellaneous Items		Whole	Year	
				1 <sup>st</sup> Seme	ester	
			Price	2 <sup>nd</sup> Sem	ester	
				Total sa	le price	
		1. Supplementary Materials	\$7.8	\$15.6		
		2.School Bay	\$24.4	\$24.4		
		3.Birthday Bay	\$13.2	\$13.2		

## Educational Publishing House Limited Christian Little Angel Kindergarten (Richland Gardens) agent Educational materials (List as below)

School	Class	Test book (Reference Book)	Who	le Year	Press
year				1 <sup>st</sup> Semester	
			Price	2 <sup>nd</sup> Semester	
				Total sale price	
				Quantity	
		1.生活學習套(1-8 冊)	\$50.7	\$405.6 (8Books)	Educational
		Theme textbook Book			Publishing
		2.Fun Around Us (1&2)	\$55.9	\$111.8 (2Books)	House Limited
		3.暑期作業 Summer Supplement	\$43	\$43 (1Book)	
		4.線條練習(1) Purlin Exercise	\$32	\$32 (1Books)	Wonder Kids
		5.線條練習(2) Purlin Exercise	\$32	\$32 (1Books)	
2020		6.線條練習(3) Purlin Exercise	\$32	\$32 (1Books)	
/ 2021	Nursery class	7.Wonder Tales	\$41.3	\$82.6 (2Books)	
2021	Class	8. 節日叢書 Festival Books	\$15	\$30 (2Books)	Educational
					Publishing
					House Limited
		Miscellaneous Items	Whole Year		
				1 <sup>st</sup> Semester	
			Price	2 <sup>nd</sup> Semester	
				Total sale price	
		1. Stationery	1 <sup>st</sup> Semester 40	\$40	
			2 <sup>st</sup> Semester /		
		2. Snacks Free	Whole Year	\$400	
		3.School Bag	\$41	\$41	
		4.Book Bag	\$26	\$26	
		5.Winter Uniform	\$613	\$613	
		6.Summer Uniform	\$343(boy)	\$343(boy)	
			\$316(girl)	\$316(girl)	

# Educational Publishing House Limited Christian Little Angel Kindergarten (Richland Gardens) agent Educational materials (List as below)

School	Class	Test book (Reference Book)	Whole	Press	
year				1 <sup>st</sup> Semester	
			Price	2 <sup>nd</sup> Semester	
				Total sale price	
				Quantity	
		1.生活學習套(1-8 冊)	\$55.9	\$447.2 (8 Books)	Educational
		Theme textbook Book			Publishing
		2.來說普通話(低上&下冊)	\$46.5	\$93 (2Books)	House,
		Putonghua Book			Limited
		3.Phonice Around Us (1&2)	\$53.3	\$106.6 (2Books)	
		4.Fun Around Us (3&4)	\$55.9	\$111.8 (2Books)	
		5.識字篇(1-3)Writing Supplement	\$32.0	\$96 (3Books)	Wonder
		6.基礎篇(3-4) Writing Supplement	\$32.0	\$64 (3Books)	Kids
2020		7.假期作業(3) Holidays Supplement	\$22	\$66 (3Books)	Educational
/	Lower	8.暑期作業 Summer Supplement	\$43	\$43 (1Books)	Publishing
2021	Class	9.節日叢書 Festival Book	\$15	\$30 (2Books)	House,
					Limited
		Miscellaneous Items	Who	le Year	
				1 <sup>st</sup> Semester	
			Price	2 <sup>nd</sup> Semester	
				Total sale price	
		1. Stationery	1 <sup>st</sup> Semester 40	\$48	
			2 <sup>st</sup> Semester /		
		2. Snacks Free	Whole Year	\$400	
		3.School Bag	\$41	\$41	
		4.Book Bag	\$26	\$26	
		5.Winter Uniform	\$613	\$613	
		6.Summer Uniform	\$343(boy)	\$343(boy)	
			\$316(girl)	\$316(girl)	

# Educational Publishing House Limited Christian Little Angel Kindergarten (Richland Gardens) agent Educational materials (List as below)

School	Class	Test book (Reference Book)	Whole	Whole Year		
year				1 <sup>st</sup> Semester		
			Price	2 <sup>nd</sup> Semester		
				Total sale price		
				Quantity		
		1.生活學習套(1-8 冊)	\$61.4	\$491.2 (8 Books)	Educational	
		Theme textbook Book			Publishing	
		2.來說普通話(低上&下冊)	\$46.5	\$93 (2Books)	House,	
		Putonghua Book			Limited	
		3.Phonice Around Us (1&2)	\$53.3	\$106.6 (2Books)		
		4.Fun Around Us (3&4)	\$55.9	\$111.8 (2Books)		
		5.識字篇(4-5)Writing Supplement	\$32.0	\$96 (3Books)	Wonder	
		6.識字篇(6-7) Writing Supplement	\$32.0	\$64 (3Books)	Kids	
2020	Upper	7.假期作業(3) Holidays Supplement	\$22	\$66 (3Books)	Educational	
/	Class	8.暑期作業 Summer Supplement	\$43	\$43 (1Books)	Publishing	
2021		9.節日叢書 Festival Book	\$15	\$30 (2Books)	House,	
					Limited	
		Miscellaneous Items	Who	Whole Year		
				1 <sup>st</sup> Semester		
			Price	2 <sup>nd</sup> Semester		
				Total sale price		
		1. Stationery	1 <sup>st</sup> Semester 40	\$48		
			2 <sup>st</sup> Semester /			
		2. Snacks Free	Whole Year	\$400		
		3.School Bag	\$41	\$41		
		4.Book Bag	\$26	\$26		
		5.Winter Uniform	\$613	\$613		
		6.Summer Uniform	\$343(boy)	\$343(boy)		
			\$316(girl)	\$316(girl)		